fevg. 3,76

- Fig. P3.76 and P3.79

=0, wdd A

,f’ii"“\\
I70 mm .

|

150 mm

R

150 mm

ey

CHOOSE B To SimpLIFY.
M.@TVZKFG*@%&

&

CHOCE o€ PONT 10 EVAlukie m 15 ARG TRALY,



&
| o8, 376 @I

ok powrs . 6(3e0,0 0)™ E(l0,%0, Oyﬁ;

plo,k0, 7)™
F=(-700) 2
e s dx=)e-Xs =(0-30 = (0™
%?9 le-\fy = 60-0 = 50" f2=0
G =) 2 + (o)™

| \% = (l_‘i?);zld f
e e L e
\dy =% -t = (p-50 = 50"
dz =2, -2 = [70-0 = (70"

=i+ W o = MOHT
'Fz\f Fdzf -(%”ﬁﬁfzﬁ -212"
%‘é‘ il




Plo?, 376 ConT

F%Z' (%Ixfmtf :l?.O'J
E‘: (-»l/J)b k((/&)j f'(lﬁf>£ ”

Br b= | -3 % O
% % G

[={9)7 “[("3007ﬁﬁ>—0jf cG)E
=( 5%00)j e

A A

- [ 7 7 3
VT;KE": =50 %0 &

AT I3 7

[(wa0) 6Tt ~Lernoe) 1

[ (1 U3) - (v Y-2.2) [ ¥
=(190)% +(3600) ] +()f "™
/‘19 = (1920) L+ (5100 +30w) [

e =(iqa0 )2 + (qo00)} ™™

&



PROB. 376 conT.

| — N“‘mr? A}.LM

(,Maf = 4309 = .20

——

00N\

O =cos(702) = 70.9°

~onaa\
- wt i N o
Oy = o5 (q2) = 120

P

Go =) = 9




